J0o00o0o0oooodooooooopPbDFOOOOO
JO0odoooooooOa
https://www.100test.com/kao_ti2020/227/2021 2022 E4 BC 9A
ES AE Al E8 81 8C E7 c44 227808.htm 101 O [0 O I=P*i*n 2
DO00000FR=PO1MO 3000000P=FO1*n0 40
OO0000FR=POLIONOOPORPUIONO SOOOON
OP=F0O1iI0-nO00FOP/FOIONO 60 OOOOOOOFR=AL
O1i0n-1J/i0O0AOFAOIONO 70000000A=F*/[01
IOn-1]JO00OFOA/FOIONO 80 0O OOOOOP=A{J1-0 11
O-n)/i}0 DAOP/AOIONO 0 O00O0O0OOOA=P{i/[1-01
iO-n}UOPOA/OIONO 100 00000O00OF=A{[O1i
OO0OnlO-1)/i-1}300A[0OFAOIONIO-1]110 000000
OO0 P=A{[1-01i0 -0 n-10 ]/ 1}0 O A[O P/AO IO n-10 1] 12
0o oo dmnuooooon
DJO000o0oo0OmidOoodood P=A{[1-01iI0-Omn

O 1/4-[1-0 110 - m]/i}d O A[0O P/AO i0 mn -O P/AO 0 n ]
J0o0dooooooodoooooooooooooa
0000 P=A{[1-01i0-n)/i*[0 110 -m]}0 O A[O P/AO |
OnO*0P/FOUOmOJO00O0OU0OU0OU0OO0OOOOOOO
Jod0ooododo pP=A{U1i0n-1)/1}*0 110 -0 nmO
OOAOFAINOOP/FIL,nmO 300000000P=A/14
Do0oooi=s[drpO/n]- 100000000 i=A/PUOOO
Jdoobooouoodobooooooooouooboo
Jo0odoodouidobobooooooooood
Oi=l100dp l-ad/Op 1-a B 200*0i2-i10 150 0 0 0O O
Jodododod=dldmdm-1000rr00000O0mM



000000 160000000R=RFRR=RFb*V 170 00
00 0OP490 180000 0P500 1900000 0 O P500 20
0000000V=c/E21000000000=000010
00000000x00000D0-00000000000
00x000O000-00000x000000x00000
02200000000000000000000000FPs67
00000000PSSO 23000000000 00V=0P-E
O*NODOPOODOOOOOOOODEDDDOOONOOOO
00000.240000000=0000*0P/FOi10n0 O
000*20P/A0IOND D000 00000iR000O0
00On0000D0 0000000000000 00000
00 000000=0000*01i2*n0*0P/FOi0 N0 25
00000000=0000/00000000=0000
00/000000260000000000=Cb/01-CDO *
360/N*100% 000 CDO000000000NDODDDOO
000000000000000000002700000
0 Kb=10 1-TO /[BOO 1-f0 ]=B*i*0 1-TO / [BOO 1-f0 ] 0 O
OKbODODODODODID00000D00000TOOO0O000
OBO00000IN0DDDDODOBOOOODOONONO0
0000000000000 2800000000Ki=l

0 1-TO/[LO 1-f0 J=i*L*0 1-TO /[LO 1-f0 ] 0 O Ki =i0 1-T0
00000000 000KOOODODODODODI00000
0000000000000 TOD00000iI0000
00000f000000000 29000000 0Kp=D/P0
01-TO000KpOOOOOOODOOOOO0O00000PO
0000000030000000000000



[ Ke=D/P0*100% [ Ke=[D1/P00 1-f0]1¢0 0000000

O Ke=RFB ORmM-RFO 000000000000 Ke=RFRp
N000KOOOOO0OO0ODODIOO1000000POO0D0

0000¢g000003100000000K=D/P0g3200
00000000KwW=s WKjDOOKwO OOODODOOO
0Owj00j00000000000KODj000000

33000000000BP=TF/WIDOOOBPIOD DO OO0
OO0TRO0I0DDD00000D000OWIODOD0000

00000000000 34000000 M=0 p-b0 x=m*x
000OMODODOOO0p000000b000D00O000m
00000000x0000 30000000EBIT=0p-b
0 x-a=M-a360 0 0 0 0 0 DOL=M/EBIT=M/0 M-a] 370 O
000 0DFL=EBIT/0EBIT-10 380 0 0 0O O

0 DCL=DOL*DFL=M/[EBIT-I-d/00 1-TO ] 100Test 0 0 0 0 O
0000000000000 00000 www.100test.com



